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Questions

People working in asbestos factories are affected by air pollution, the most affected part of
their body is the

Fertilization is the process of

Which part of the body has greatest regeneration power?

Food is normally digested in the?

Former which part of the plantis turmeric obtained?

Lung are enclosed in

Lungs are situate in the

Maize grain is

Male frogs show vocal sacs and

Mammals are

Answers Choice

A. Eye <br>
B. Throat<br>
C. Lung<br>
D. Skin <br>

A. Fusion of male nucleus with polar
nuclei<br>

B. Formation of seed form ovule <br>
C. Fusion of one male gamete with
the egg<br>

D. Transfer of pollen form anther to
stigma<br>

. Liver <br>

. Kidney <br>
Pancreas <br>
Brain<br>

Liver<br>
Stomach<br>

. Small intestine<br>
. large intestine<br>

Root<br>
. Fruit<br>
Seed <br>
Stem<br>

. Pericardium<br>

. Peritoneum<br>

Pleura membrane<br>

None of these&nbsp;&nbsp; <br>

abdominal cavity<br>
. Pericardial cavity<br>
. Buckle cavity<br>
Thoracic cavity<br>

a seed<br>

an embryo <br>
an ovule <br>

a fruit <br>

Tail <br>

Neck <br>
Nuptial pads<br>
all of these <br>

Warm-blooded<br>
cold-blooded<br>

C. Both (a) and (b)<br>
D. None of these <br>
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